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e3k = 7 = ek~ 67=>3k=1n6.7=k =~ 0.634
or
48 — /2108
e3k = 7 = e3* 2 015> 3k =1n0.15 =k ~ —0.634
33)
|2%° — 8| =3
2% _ g8 =3 or 2% _ g8 =3

2*° —8=3=2*" =11 = x2log2 =log11 =x? ~ 3.459 = x ~ 1.86

or

2% —8=-3=22 =5=x%log2 =log5 >x2 ~ 2322 = x ~ 1.52

34)
log; x = klog, x

logx  logx
log3 " log?2
log x\ /log 2 log 2
=>k2< g )( 8 )=>k=izo.6309
log 3/ \log x log 3
35)
fa) =e¥—e™
f) =y
>y=e*—e*
e*(y) = e -1
e?* —1
>y = o

e?* —1
=>1ny=ln( pv: )

= Iny = In(e?* — 1) — In(e¥)
>hy=2x—-1-—x
>hy=x-1
=>x=lny+1
=>fx)=lnx+1




100 dadia Baa 4l Ailgd LA

1) a 2)b 3)a 4) b 5)d 6)d
7)
log3; 15 =logz5+logz3=c+1
8)
1
log; 0.2 = log; T = log; 1 —1logz 5 =—c
9)
log; 125 = log; 53 = 3¢
10)
logz;5 ¢
logy 5 = log; 9 2
11)
1
Zlogg,(x —3) =log3 6
1
logz(x — 3)4 =log; 6
1
=>(x—-3)4 =6
=>x—3=1296 =2 x = 1299
12)
log,(x + 3) +log,(x —3) =2
= log,(x +3)(x —3) =2
>x?-9=42=>x>=25=>x=5
13)
e*+e ™ =5>e**+1=05e"
=>y2-5y+1=0
5+ 21
2y=—7
=>y=~=4791 or y=0.209
= e*=4791 = x =1n4.791 = 1.57
or
=e*=0209=x=In0.209 = —1.57
14)

27 = 9x” x 35%
33 — 32x2 X 35x
= 2x% 4+ 5x =3




1
(2x—1)(x+3)=0=>x=§ or x = —3

15)
T =18 + 12¢%00%
T =18 + 12¢0002%5
T =~ 30.121
16)
T = 18 + 12%0%2¢
50 = 18 + 120002
32 — 1280'002t = e0.00Zt ~ 27
1
= 0002 =g 5t = —— =500
€ ¢ 0.002
17) R dsaall alac ) Jladll
2 (1,0) sl
/ Slax) = 27 1
18) R disall alacYyladl)

(0,0) sl




19) (0,%0) Jlaall
R daisal) alacY) sadll

20) (0,%0) Jiaall
R 4iaall alacYl sad)

p(r) = 3 In(x) 1

21)
I
L =10log (—)
Iy
5500 I,
L= 1010g( )
Iy
L =101log5500 = 37.404
22)
I
L =10log (—)
Iy
I
32=10log (—)
Iy
I I
3.2 =log (—) = 1032 = —= ] =103?],
Iy Iy




23)

24)
N = 8736_0'078t
N = 8738_0'078X10 ~ 400
25)
1
log, \/xyz = > (logy x +log, y + log, z)
26)
2
ln(3x3y> =In2-In3—-3Inx—Iny
27)
1 ( ad ) Inx — ~In(2 + 1)
n =Ilnx — =In(x
N 2
28)
1
log, x\/y =log, x + Eloga y
29)
2
21 —1 1) =1
ogx —log(x + 1) Og<x+ 1)
30)

log(x? — 5x — 14) — log(x? — 4)

x?> —5x — 14
= log P )

x—7)(x+2) x—17
- 1°g<(x “ D + 2)) B 1°g< )




31)

1
4log, x — 2log, 6 —Elogby

= log, x* — log), 36 — log, \/y

x4—
108b<

36,/y

)

32) b

33)a

34) c
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